Chapter 12    Intangible Assets

Lack physical substance

(patents, copyrights, franchises, licenses, trademarks, trade names, goodwill)

They are NOT financial instruments

(A/R, notes and bonds receivable,….ect.)

Valuation:

Record at cost (everything necessary to make asset ready for intended use).  

For internally-generated intangibles, only direct costs are capitalized (e.g., legal costs for patent). 

If insignificant cost, then usually expensed.

Amortization:*
Limited-life intangibles—over useful life. Amortizable base equals cost minus residual value.

Indefinite-life intangibles—do NOT amortize.

* Usually decrease the value of the asset directly, can use a contra-account: Accum. Amort.
“Types” of Intangible Assets


Legal 
Amortization 


life

Period

Market-related:

Trademark
Indefinate,

Company name
renewable
Not amortized

Customer-related:


Customer lists
None
Lesser of useful or



 economic life.

Artistic-related:


Copyrights
Life of creator
Lesser of useful or


plus 70 years
economic life.

Contract-related:

Franchises
Length of
Length of

Licences
contract or
contract or

Permits
indefinite
not amortized

Technology-related:

Patents
20 years
Less of useful



or legal life.

Goodwill:
None
Not amortized

Recording Goodwill

Duncun Corp. purchased the Fran Company for $300,000 on December 31, 2003.  The balance sheet of Fran Company just prior to acquisition and appraisal of the fair values of identifiable net assets is listed below:

Fran Company

BALANCE SHEET

December 31, 2003

	ASSETS
	Carrying

Values
	Fair

Values
	Increase

(decrease)

	Cash
	$15,000
	$15,000
	-0-

	Receivables
	10,000
	10,000
	-0-

	Inventories (LIFO)
	50,000
	70,000
	$20,000

	PPE
	80,000
	130,000
	50,000

	Total Assets
	$155,000
	$225,000
	

	Net Assets =
	$130,000
	$200,000
	

	EQUITIES
	
	
	

	Current liabilities
	$25,000
	$25,000
	-0-

	Capital stock
	100,000
	
	

	Retained Earn.
	30,000
	
	

	Total Equities
	$155,000
	
	


Acquisition Journal entry:

Cash
   $  15,000

Receivables
10,000

Inventories
70,000

PPE
130,000

Goodwill (plug)
100,000


Current Liabilities

25,000


Cash

300,000
All identifiable net assets acquired are recorded at FairV and Goodwill is plugged for the difference between purchase price and FairV of identifiable net assets acquired.

Goodwill is not amortized.

* Must annually check for impairment.

If the FairV of net assets acquired is greater than the purchase price then you have negative goodwill (or badwill)—FASB requires that the excess be recognized as an extraordinary gain.

Impairments of Intangibles
Two questions:

(1) Has an impairment occurred?

(2) How much impairment loss?

Three different approaches:

(1) Limited-life intangibles—same 2-step test as for PPE.

(2) Indefinite-life intangibles (except goodwill)—one-step test.  Loss is the excess of CV over FV.

(3) Goodwill—two-step test (different than above)

Limited-life Intangibles—Impairment

Recoverability Test:

Are expected future undiscounted net cash flows less than carrying value?  If yes, then go on to determine the amount of impairment loss.

Impairment Loss:

Assets held for use
Assets held for disposal
Loss = CV – FairV
Loss = CV – NRV

Amortize new cost basis
No amortization

No restoration of loss
Restoration of loss


permitted.
Impairment of Limited-life Intangibles—example 

Example: Patent

Carrying value
$60,000,000

Undiscounted future net cash flows
35,000,000

Fair value (mkt. value)
20,000,000

Recoverability Test:  (yes/no)
Carrying value
$60,000,000

Undiscounted future net cash flows
-35,000,000
Impairment
$25,000,000

Impairment Loss:

Carrying value
$60,000,000

Fair value (mkt. value)
20,000,000
Impairment loss
$40,000,000

Journal Entry


Loss on impairment
40,000,000



Patents

40,000,000

[reported in the other gains and losses section of the income statement]

Impairment of Indefinite-life Intangibles

(except Goodwill)

Test at least annually

One-step test (fair value test)

If FairV < CV then impairment has occurred and impairment loss = CV – FairV

Example:

Fair Value Test

Carrying value of broadcast license
$2,000,000

Fair value
1,500,000

Impairment loss
$   500,000

……………………………………………………
Journal entry


Loss on impairment
500,000



Broadcast license
500,000
Impairment of Goodwill

Two-step process:

(1) Is FairV of unit less than carrying value?  If yes, then impairment has occurred.

(2) Is FairV (implied) of unit’s goodwill less than the CV?  If yes, than impairment of CV – FairV.  However, if no, then no impairment!

This is like a two-step for recoverability test.

Impairment of Goodwill—example.

CV of assets other than goodwill
$2,000,000

CV of goodwill

900,000

CV of payables

500,000

FV of reporting division

1,900,000

FV of net assets (except good will)
1,600,000



(1) Has impairment occurred?

CV of unit’s net assets

$2,400,000

FV of unit

-1,900,000

   Impairment 

 $ 500,000

(2) Amount of impairment loss?

FV of unit

$1,900,000

FV of net assets (exclude goodwill)
1,600,000

   FV (implied) goodwill 
$  300,000

CV of goodwill

$  900,000

FV goodwill (implied)

300,000
  Impairment loss

$  600,000

Journal entry

Loss on impairment—Goodwill
$ 600,000


Goodwill
600,000

RESEARCH & DEVELOPMENT

►
SFAS #2 effective 1/1/1975:  R&D with no alternative use has to be expensed in the period incurred.

*
R&D costs entail a high degree of uncertainty of future benefits.

*
It is difficult to match R&D costs with future revenues.

►
Research is planned search or critical investigation aimed at discovery of new knowledge.

►
Development is the translation of research findings into a plan for a new product or process or for a significant improvement to an existing product or process.

►
R&D costs include labor costs, materials, depreciation and amortization of operational assets used in R&D activities, and a reasonable allocation of indirect costs related to those activities.

►
In general, R&D costs pertain to activities that occur prior to the start of commercial production.

►
GAAP require disclosure of total R&D expense incurred during the period.

►
Cost of research done for others can be capitalized as a receivable.

For further discussion see: SFAS #68  “R&D Arrangements” (1982)
RESEARCH AND DEVELOPMENT
(continued)


   |
|
|

   |
|
|

Start of
Start of
Sale of

R&D
Commercial
  Product

Activity
 Production
 or Process

Examples of R&D Costs:
|
Examples of Non-R&D Costs:

|

•
Laboratory research aimed at
|
• Engineering follow-through    


discovery of new knowledge
|

in an early phase of commercial



|

production



|

•
Searching for applications of 
|
• Quality control during commercial


new research findings or 
|

production including routine  


other knowledge
|

testing of products



|

•
Design, construction, and 
|
• Routine ongoing efforts to 


testing of preproduction
|

refine, enrich, or otherwise


prototypes and models
|

improve on the qualities of an



|

existing product



|

•
Modification of the formulation
|
• Adaptation of an existing 


or design of a product or process
|

capability to a particular 



|

requirement or customer’s need as



|

part of a continuing commercial


|

activity

RESEARCH AND DEVELOPMENT COSTS

The Askew Company made the following cash expenditures during 2000 related to the development of a new industrial plastic:



R&D salaries and wages
$10,000,000



R&D supplies consumed during 2000
3,000,000



Purchase of R&D equipment
5,000,000



Patent filing and legal costs
100,000



Payments to others for services performed



  in connection with R&D activities
   1,200,000


    Total
$19,300,000
The project resulted in a new product to be manufactured in 2001. A patent was filed with the U.S. Patent Office.  The equipment purchased will be employed in other projects.  Depreciation on the equipment for 2000 was $500,000.

The various expenditures would be recorded as follows:

R&D expense

14,200,000

  ($10,000,000 + 3,000,000 + 1,200,000)

Cash


14,200,000

Equipment

5,000,000


Cash


5,000,000

R&D expense

500,000


Accumulated depreciation—equipment

500,000

Patent

100,000


Cash


100,000

Costs similar to R&D:

Start-up/pre-opening costs and organizational costs—expense as incurred.


Initial operating losses—recognize immediately.


SFAS #7 “Development Stage Enterprises” 

Advertising—expense as incurred or when first 


advertising takes place.


Before 1st ad: “prepaid advertising”
COMPUTER SOFTWARE DEVELOPMENT COSTS

►
GAAP require the capitalization of software development costs incurred after technological feasibility is established.  SFAS #86 (1985) “Accounting for the costs of Software to be Sold, leased, or otherwise Marketed”
►
Technological feasibility is established “when the enterprise has completed all planning, designing, coding, and testing activities that are necessary to establish that the product can be produced to meet its design specifications including functions, features, and technical performance requirements.”


      Costs expensed as             Costs
             R&D                     Capitalized                      Costs not R&D

|
|
|
|


|
|
|
|

 Start of
  Technological
  Start of
    Sale of

  R&D
    Feasibility
   Commercial
   Product 

 Activity
    Production
 or Process

►
The periodic amortization percentage for software development costs is the greater of (1) the ratio of current revenues to current and anticipated revenues (percentage-of-revenue method) or (2) the straight-line percentage over the useful life of the asset. 
COMPUTER SOFTWARE DEVELOPMENT COSTS
(continued)

The Astro Corporation develops computer software graphics programs for sale.  A new development project begun in 1999 reached technological feasibility at the end of June 2000, and commercial production began early in 2001.  Development costs incurred in 2000 prior to June 30 were $1,200,000 and costs incurred from June 30 to the start of commercial production were $800,000.  2001 revenues from the sale of the new product were $3,000,000 and the company anticipates an additional $7,000,000 in revenues.  The economic life of the software is estimated at four years.

The Astro company would expense the $1,200,000 in costs incurred prior to the establishment of technological feasibility and capitalize the $800,000 in costs incurred between technological feasibility and the start of commercial production. 2001 amortization of the intangible asset, software development costs, is calculated as follows:

1. Percentage-of-revenue method:

             $3,000,000



  =  30%  x $800,000  =  $240,000


$3,000,000 + $7,000,000


2. Straight-line method:


1/4  or 25 %  x  $800,000  =  $200,000.

The percentage of revenue method is used because it produces the greater amortization, $240,000.
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